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Lesson 7-2 | The Pythagorean Theorem and lts Converse

@khh&\é&ﬂ/gﬂ)“\d&
050-2509447

sansy) s 5 pup b 4 k1 7.2 Slal) cuall Jas 43,

wou g Ui A BT (pu gSaa aladiad) -2 RETSY LR WP -HNRECDN B ) ) o

sl L ey 4 4 el

Slo o goeme Go% gl @b Llis (B (o]
c sl Jobs o Bylus clicd) Bl Jlgls]

aalall gy g3l wbd Elie AABC 415 13) 901
.32+b2=62¢,!£.cu.aa.a

ALY Lo e ad ol puslas B o g |
3,4,5 5, 12, 13 8, 15, 17 7, 24, 25
6, 8, 10 10, 24, 26 16, 30, 34 14, 48, 50
9,12, 15 15, 36, 39 24, 45, 51 21 72, 75

3x, 4x, 5x 5x, 12x, 13x 8x, 15x, 17x 7x, 24x, 25x
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BASKETBALL The support for a basketball net
forms a right triangle as shown. What is the
length x of the horizontal portion of the support?
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2 > 2
2z = 1 - n.ys
X = &\z—ou%l'
2= 0-89\”\



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN

@%LM\@M/Q&JM\J&
050-2509447

https://t.me/mathbookl DGEN

pladl pilall (S5 b - )l 5LE

https://t.me/alllaaam82

Llie MY luld (oS5 o (S LIS Ole peaned) (0 1okl Ao gemme gl OLS 13) Lo s>

hl] Mo .dgl @0 ol graie ol sl & Sle Cligd Calald (UIS 0% LS 13)

Determine whether each set of numbers can be the measures of the sides of a triangle.
If so, classify the triangle as acute, obtuse, or right. Justify your answer.

15, 36, 39 16, 18, 26
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15, 20, 24 10, 12, 23
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X(—=3, =2), Y(—1,0), Z(0, —1) o
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COORDINATE GEOMETRY Determine whether AXYZ is an acute, right, or obtuse triangle for the given vertices. Explain.
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